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1. RHERBHEOHE

{RHERBHEL. LNGELPGOE AT (B SREHE) OEBIHLT,
BA.REHNESBEMO mMHYDRE) ZRETIHETT.

AT RFMEHE (83,350 ") EF R IHEHE (3~54 ARID3, ABDLNGELPGO#M A ffitg) DZEZE100M 12DF,
1m#7=Y 0081 (Fitk) AELET,
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() FHYRERFEEDETE
<LNGF 18 A fifitg > <LPGEH# A fftg >
49,830 (H/*.) X 0.9576 + 67,530 (F4/%.) X 0.0466 = 50,864.106 (4/".)
= 50,860 (/") XI0AERBEEDEREA

(2) FHRAFHTAE & B4 T 1R AHEG S0 Z 88 (REHEE L8138 DEE
< EEF RIS >

< FREHER >
83,350 (/%) - 50,860 (F4/*.) = 32,490 (H/*%.)

= 32,400 (/*.)

X100 RFEEYIET
QIREHEHMALLEDET
< [FERHEIS L Bh5E > <HBEF=E>
32,400 (/%) X 0.081 (F/m) -

100 (M/*.) X (1

= 2835 (H/m) NN A EIMLUTEY LI

+ 008) = 2834352 (A/m)

(4) REME B (FA) DETE (—RARBHBHR HERBOBE)
<BEEHAMHE>

<BEBMEHMBEE>
165.96 (F1/m) -

28.35 (/m)

137.61 (/m)

(& &) FRIOFIARH DI OREHSEMEDLLE
<FHIESADREH R B>

<ERHI0EIE DREBHSHIM>
137.61 (A/m) -

136.21 (A/m) = +1.40 (A/m)

(5) HAFE (FRLI0ES A St Fiid)

<EAEE> <fEE R B> <AREAE>
1,560.00 (M/A) + 13761 (A/m) X 31 (m/8) = 5,825.91 (A/A)
= 5825 (H/H) XIARBHELET
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